English 9th Lahore @@%\W
(Compulsory) m@@g@}]@mtwe Type)

Time: 20 MirhuWQ\EéWﬁin Max Marks: 19

Note@@ﬁU ssTble answers A, B, C and D to each
question are given. The choice which you think is
correct, fill that circle in front of that question with
Marker or Pen ink in the answer book. Cuttmg or

filing two or more circles will result in zero mark in
that question. (A

Choose ttie correcf form of verb and fill up the

bubbles sheet:
It... at present: |
~ (A) s raining (B) rains
(C) rained | (D) raining

He ... is the sun for an hour: Rt
(A) have stood (B) have stand = -

(C) has stood (D) has been standing
They ... to school when the storm broke:
(A) was going (B) were going
(C) was go (D) were go
H The sun ... before we were ready to leave:
(A) has risen (B) had risen

(C) have risen (D) had rise

| hope it ... raining by the evening:

(A) shall have stop  (B) will have stopped

(C) shall stop (D) shall be stopping
Choose the word with correct spelling and fl"
up the bubbles sheet:

(A) Iradicate (B) Eradeecate

(C) Eradicate (D) Eradecate .
i (A) Constant @.m

(C) Constent
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N Ve (B) PEgEﬂnt

(C) Pagunt (D) Peageant |
Choose the correct meaning of the underlined
word and fill up the bubbles sheet:

i She simply posed a counter question that
infuriated Abu Jehl.

(A) pleased (B) helped

(C) enraged == (D) | ly@@

Their eloquence and neme

their poetry;
o “@\\5@ (B) strong
} M (D) fluency
indictive means: -

(A) Dedicate (B) Revengeful
(C) Experiment (D) Text
Do notsbe afraid of death:

(A) attended to (B) scared
(C) squared up (D) fed up
Gradually means:
(A) Hurriedly (B) Quickly
(C) Speedily (D) Steadily | |
Choose the correct option.according to the
grammar and fill up the bubbles sheet:
Which of the following is a phrase?
(A) ltisofnouse.  (B) Heis well.
(C) inan unwise manner
(D) over there hangs the great dark bell. .
Why don't you go along .. your brother?
(A) to (B) with
(C) by (D) for
The government has levied more taxes ... the
salary structure has not been improved:
(A) in fact (B) but
(C) hence (D) whereas
That was the reason why he came late. The
underlined clause is a / an:.
- (A) adverb clause  (B) adjective clause
(C) nound clause (D) none of these
He came after night had fallen. The underlined

clause is an adverly clause of; a @@W

(A) condition
(C) time gy\,ﬁﬁ@ degree




